A

2000 &= =20l & LEgH|
SN BHAYD
M UEAES(REES/HAESA)
el 2 (EHe|:® <)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
SHE ot bt 19,147,057 17,564,234 1,582,823
= 5,647,100
iy 2,101,000
= 330,000
= 1,474,569
iy 9,594,388
NS AES (BB ES/8HES 22,602 41,145 A 18,543
stg el 22,602 41,145 N 18,543
stFae B4 8,000 8,000 0
301 LBt A= 3,000 3,000 0
12 JIEIEAZ 3,000 3,000 0
OstHENAIE AKX E A 300,000& %10 3,000
307 QI2tolA 5,000 5,000 0
02 QI2HEAMNEX 5,000 5,000 0
OXHES RFEZEOS 24
5,000,000 = 1=K 5,000
sFaeed 14,602 7,345 7,257
201 B9y 10,732 3,045 7,687
01 ArR2t2lt| 2,741 3,045 N304
Odta s =&85H =2 282 ,600& x6& 1,696
OxZely 222 250,000& x4+ 1.045 1,045
02 =224t 7,991 0 7,991
OEAMNEREE S DA RELS
500& *16,00024 * 13| *0.9988 7,991
202 O4Hd| 3,870 4,300 AN430
01 =2WAbI 3,870 4,300 A 430
ogtg &2l oyl 3,870,000& 3,870
AT AL (SHHBES/AGIEE - &) 951,116 1,124,379 A 173,2683
= 5,000
g 304,000
= 30,000
iy 612,116
MEE S 91,450 54,375 37,075
DiS2ateE & (22 91,450 54,375 37,075
201 LErEAH| 31,250 31,500 A 250




2A: BEAEN
HH: M4T A (BEES/MoIE - +E)
oS A2 S CER:E
_ _ HAG
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
01 At®2teldl 31,250 2,500 28,750
O ESHAIR2 22| HI 2,250
— DY A2E ¢ 250,000 *9JHK 2,250
Ol s AANETE
290,000& » 16791 2 *57.815/100 28,000
OLxHEEBMEE
125,000& *2JH A x4 3| 1,000
202  O4Hl 1,800 2,000 A 200
01 =ZLHOHI 1,800 2,000 A 200
SHOHH| 50,000& *3% *123| 1,800
207 HAFOHEH] 50,000 0 50,000
01 A& 50,000 0 50,000
OXdt=S&ETANES 2,000,000& 252 50,000
401 AIEHIZL 2 0HYI 8,400 20,875 N12,475
01 Al&H] 8,400 20,875 N12,475
OltSasE A2 otue &X
300, 000& 281 2~ 8,400
MET S 859,666 1,070,004 A 210,338
= 5,000
rag 304,000
< 30,000
iy 520,666
DtSatT S 75,000 75,000 0
401 AIEHIYLE20HYI 75,000 75,000 0
01 Al&H] 75,000 75,000 0
Onrsasx 28832 5,000,000 * 1500 A 75,000
JZdE-z3It7 =202 A2 10,000 39,000 A 29,000
= 5,000
= 5,000
401 AIEHIZ 204 10,000 39,000 29,000
= 5,000
iy 5,000
01 Al&bI 10,000 39,000 A29,000
OJIZMELSUETE2)|2HA
1,000,000 *10H 10,000




PN
MAT PR(BYSS/MEIEE - 2+ E)
AT W o)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Aol Ofl At ot Hws2
= 5,000
2 5,000
ATRS STAE W 608,000 956,004 348,004
= 304,000
= 30,000
2 274,000
401 AZHI L2 608,000 956,004 348,004
= 304,000
= 30,000
2 274,000
01 AlZH] 608,000 956,004 348,004
OLR2Z4AE MY 60,800,0008 %1074 £ 608,000
= 304,000
= 30,000
2 274,000
ARE Fo=H 166,666 0 166,666
401 AEHI L2 166,666 0 166,666
01 AIZH] 166,666 0 166,666
OStHHOtS44E HS(SEIADH)
20,000,00021 * 14! 20,000
OUSDIS3I 2 A4TR =T
16,666, 0002 %14} 16,666
OBt FOISA+E HY 33,000,0002! * 14! 33,000
OZEOIZ 472 A0I4+T L
17,000, 0002 * 14} 17,000
OBFOSH+E WY 35,000,00021 * 14! 35,000
OJIBROISA4E HY 20,000,00021 * 14! 20,000
OU=H OIS A4+ WY 25,000,0008 «14! 25,000
SlaE R(BABS/MGILEE - 1) 563,670 371,385 192,285
~% 29 563,670 371,385 192,285
NBARBO 24He 72,000 74,991 £2,991
201 Y2yl 72,000 74,991 £2,991
02 ZZ2YH| 72,000 74,991 £2,991
OMB, AT, Bo2|24HelH 8
25021 +1,600E +302 +62 72,000
St ALY 367,346 189,894 177,452




HArE Dt
S R(BBFS/YTEE - 2 H)
AC 20
_—_ = T o

_ _ MNuE o
M- E - S(3) - HRAY - BY2 Abou i HIRE
201 Ysre | 5,673 7,414 A1,741
01 Atz 5,673 7,414 A1,741
OZglE+d & RX2e 2904,6002 *53] 1,473
oA 350,0002 *123] 4,200
202 Ol 1,800 2,000 A 200
EENICE 1,800 2,000 200
OZ 201t 1,800,000 *14] 1,800
401 AN&HIL=2OH] 359,873 180,480 179,393
01 A& 357,300 180,480 176,820
020108 OHSoH4E A XA I 2L A AL
HEA (YA, F5,UZ)
3,000,000,0002! *3. 97%+*37 A 357,300
03 Al&=Ch 2,573 0 2,573
O2010% OHSSI+EEXIAY IS UMM
HESA (YA, ZS,UE)  357,300,0008+0.72% 2,573
StaE 2A3=7 50,000 50,000 0
401 Al&HIL S04 50,000 50,000 0
01 A& 50,000 50,000 0
OB+ EAZ=ERBA 50,000,000 50,000
SHEE FOI=AAAY 60,324 50,000 10,324
401 ANEHIL2OH] 60,324 50,000 10,324
01 A& 60,000 50,000 10,000
OTEE GEE 242 XA
100, 000! *300m 30,000
OS% st+ad =4 2,000, 000! *50km*30% 30,000
03 Al&=Ch 324 0 324
OTES olaE 242 M
30,000,00021 *1.08% 324
OIGtEHaIAlE Zel 2,000 6,500 A4,500
201 Yste | 1,000 5,000 4,000
01 ARzl 1,000 0 1,000
O%ZAAN 422 10,0004 *1007H 2 1,000
206 T2l 1,000 1,500 A500
01 Mzl 1,000 1,500 500
OM+Y 2 100,0002! * 102 A 1,000

_4_




SA: EZAED

M GiaL BR(HFRS/MESE - E)

ool GtaE 29 (B9l &9
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K ggaﬁ Hlw &2
AR FOIHAAY 12,000 0 12,000

401 Al&HIL=HY 12,000 0 12,000
01 A& 12,000 0 12,000
OFS 20t st+=&X 80,000 *150m 12,000
Fapel(BZ25/HIIS) 1,681,725 871,921 809, 804
= 600,000
= 24,800
= 1,056,925
yasmee 1,681,725 786,921 894,804
= 600,000
= 24,800
= 1,056,925
H2ZaHeE 2% 341,675 411,981 A70,306
101 o124t 25,279 39,934 A 14,655
10 JIARIZXSE S 25,279 39,934 A 14,655
OMEEZHY vy 15,904
—Jl23 34,0009 1802 2% 12,273
—ERay 34,0009 362 +22 2,455
—oiRRaEY+Y 34,0002 6 *2% 410
—a2E2 383,000% «22 766
OMEXAQIRY 34,0902! x202 *5% x23] 6,818
OFE+E FArRY 34,0002 +252 *3 2,557
201 ety 121,486 95,637 25,849
01 A2l 24,146 15,000 9,146
OFAET 2¢ 20,0002 * 105 *62 1,200
O2EMS ZHIY Xt 450,000 *3CH *33] 4,050
OXELS 22E 50,0008 55 *43] 1,000
oL = 50,0008 %111 5,550
OXIGHEZAE SE A 169,800 45 *43] 2,717
OFBIGHE S SHAHA
28,0002 *30H 4 %43 *1/2 1,704
OFES 2EHA 330, 20021 x2 5 * 123 7,925
02 BZ2YHI 97,340 80,637 16,703




SN BHAYD
o YA (HY2S/HIIS)
e

EHel: HAMT D (et @
_ _ SIEN
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_FOH Hlws2
N EEEEREEEE] 1,250,0002 *4CH 5,000
OMEREH X 22l 4,000,000 x5 20,000
O&E4s A2 5,000,0002 *43] 20,000
O S
1,40021 %285 7L*3CH * 122 14,400
OFIIQE 2,000,000 *62 12,000
OMBR2YXZ KA 2,500, 000! *3CH 7,500
OlYZ2IXY +2E
100,0002 *10%5 *43| *3CH 12,000
OFst 2 S4123 100,0002 *2CH * 12 2,400
OAN&E uatg 7| 1,12021%3,607 £ 4,040
206 Tzl 28,410 28,410 0
01 M 28,410 28,410 0
ONZMH4g P 100, 000! * 158 A 1,500
OAZ T (24) 4,5002 *1,500kg 6,750
OAZ R (I ALH 2,000 *100kg* 122 2,400
O&E2Hel 22/UAC
8,800 ¥50L+25 + 122 10,560
OAr=%E g 30,0002 *20L * 12 7,200
401 AlEHIZ 20| 70,000 40,000 30,000
01 Al&H 70,000 40,000 30,000
ON&EES = 33,333 * 1,500 50,000
o=yl 20,000,000 *14] 20,000
402 DIZHRI=O0|H 6,000 6,000 0
02 DIICHEAFIHI 6,000 6,000 0
OFJIGHEBL| 42T 5000002 * 122 6,000
405 XtabFE S| 90,500 202,000 A111,500
01 RAYSZ3 =S| 90,500 202,000 A 111,500
O&EEPCIES 2 3,000,0002 *43] 12,000
oSl L ereippg
30,0008 1,0000H *25 60,000
O&E+S 2EHTY 15,500
— A 6,500,000 =2CH 13,000
— 2= 500,0002! 504 2,500




SN BYNYD
Mo YApe(BYLS/HIIE)
CHel: HASME P (E49: & 2)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &F o8 il i~ o Rz
OAFE 7 1,500,000 *2CH 3,000
SEHHYSHEAS X 35,000 74,000 39,000
= 7,500
2 27,500
301 LB 35,000 74,000 39,000
= 7,500
2 27,500
12 JlEtR a3 35,000 74,000 39,000
OsZHHIY +0Zi2 7021 %500,000kg 35,000
= 7,500
2 27,500
50|18t =25y 3,100 29,200 26,100
201 Y2yl 3,100 7,200 £4,100
01 At 22l 3,100 7,200 4,100
OBADISFARLIZ 7Y 50,0008 +31 =2 3,100
TEsEA e 58,550 60,000 A1,450
201 Y2yl 8,550 10,000 A1,450
01 At 22l 2,550 0 2,550
OO0ISAIEEA A 255,000% * 1074 2,550
02 Tz 6,000 10,000 A4,000
OZ=sZa A2 300, 00024 *204 6,000
206 MRl 5,000 5,000 0
01 Mzl 5,000 5,000 0
OFA U ASUHE 50002 +55+50)H A +43] 5,000
405 Xtz S| 45,000 45,000 0
01 KMUSEHSH] 45,000 45,000 0
ORQITESITA 7Y 9,000, 0002 54 45,000
Hrumey 5,400 6,000 2600
202 O4Hl 5,400 6,000 A600
01 =Ujorb 5,400 6,000 600
OZ 201t 5,400,000} 5,400
ADTAS 1,000 4,000 A3,000
301 LerBA3 1,000 4,000 ~3,000




SN B D
A Haze|(B3ES/HIIE)
el HAME B (sl &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
12 JIEt2 &3 1,000 4,000 23,000
Odln B4z 10,000& *100A 1,000
HEZs 2el+=HE & 6,000 5,400 600
& 1,800
i 4,200
201 BH2EH] 6,000 5,400 600
= 1,800
2 4,200
02 ==29gHl 6,000 5,400 600
CHg&s =2cl=Hg 7Y 200,000 *304 6,000
< 1,800
fiis 4,200
HOIZ2 dXclAld EXIAY 1,200,000 0 1,200,000
= 600,000
i 600,000
401 Al HIZ 20| 1,200,000 0 1,200,000
=2 600,000
2 600,000
01 A&l 1,200,000 0 1,200,000
OHIISEXeIAIE AHZ=A
1,200,000,000& * 14! 1,200,000
= 600,000
i 600,000
sAE8IIF =NE 5,000 0 5,000
L= 2,500
i 2,500
201 et 5,000 0 5,000
& 2,500
i 2,500
02 232944l 5,000 0 5,000
Os%AZ2IIT =AHE 500,000 * 104 5,000
< 2,500
fiis 2,500
MYDISEMR0IE &8 AlY 6,000 0 6,000
L= 3,000




SN BHAYD
H: HA22(BHFES/HIIS)
el HAME R (9l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
MY BSHMS02 88 Al& iy 3,000
301 LBt A= 6,000 0 6,000
== 3,000
iy 3,000
12 JIEIEAZ 6,000 0 6,000
OMAHIIESSH 2012 438 Al&t
2,000,000& *3J10t= 6,000
= 3,000
= 3,000
MY IISSMH MAXNSE =HHIE XA 20,000 0 20,000
= 10,000
iy 10,000
301 LBt A= 20,000 0 20,000
& 10,000
o 10,000
12 JIEtE A2 20,000 0 20,000
OMFHIIB2H AT A 24621
20,000,000 * 1Al 20,000
= 10,000
o 10,000
ol HAMa U (2o YLAH/AH - AFE) 10,309,988 6,959,658 3,350,330
= 3,637,100
s 1,797,000
= 1,089,769
o 3,786,119
ME RN 5,315,001 2,862,750 2,452,251
= 2,892,465
= 691,806
o 1,730,730
A2 Y X &HIP2 81,229 48,051 33,178
= 22,692
= 21,111
iy 37,426
201 LerEAH| 15,400 9,951 5,449
= 4,360
& 2,862
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SN SR

Hooolel FME YSHSEHYF /LY - 4E)
ol AEIEN (£ &%)
SA-BH.C(BH) - HRAY - B Ofl &F o8 ggi Rz
P EEET] 61,7002 *370% 22,829
2 9,132
= 4,109
2 9,588
SLTIEIESIb] 14,000,0002! #1CH 14,000
= 7,000
2 7,000
OIS B LA A (SE)
6,000,0002! *1CH 6,000
2 2,400
= 1,080
= 2,520
OtzoY 2RI 1,000,0002! *6CH 6,000
= 3,000
2 3,000
AEHX B2SHIS 33,218 21,090 12,128
2 13,287
= 5,979
2 3,952
101 Q14| 7,350 7,350 0
= 2,940
= 1,323
2 3,087
10 JRAH2ENER+ 7,350 7,350 0
O L Q2 HH 2,450,000% *3ha 7,350
2 2,940
= 1,323
2 3,087
201 Yer2g| 11,250 13,740 A2,490
= 4,500
= 2,005
2 4,725
01 At 22l 11,250 9,800 1,450
OUELXBAR 222 20000024 *332 6,600
2 2,640
= 1,188
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SN SR

ool YW YSH(SPHRLSA/LY - ME)
ol AEIEN (5 &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 ggi B2
2 2,772
OMEET S| 5,0002 *930% 4,650
2 1,860
= 837
2 1,953
202 01l 4,000 0 4,000
= 1,600
= 720
2 1,680
01 =00l 4,000 0 4,000
Ot 2R sESY| 20,000 %2003 4,000
2 1,600
= 720
2 1,680
401 ASHILLHY 10,618 0 10,618
= 4,247
= 1,911
2 4,460
01 Al 10,618 0 10,618
OSEASS T8 0/AZAN =4
4,247,2002%2.5ha 10,618
2 4,247
= 1,911
2 4,460
NEEIS IR 411,540 360,200 51,340
= 63,368
= 58,890
2 289,282
101 Q12| 411,540 360,200 51,340
= 63,368
= 58,890
2 289,282
EPIEEEP == 411,540 360,200 51,340
OUEAAR Q=Y (M2 EE)
6,328,000 *40%] 253, 120
= 30,374
2 222,746
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SN SR

B ool BMH S (SYHYLA/YY - ME)
Sl AMEXY (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OMEES2SAIY X =0 |
100,812 x16H 1,613
2 968
S 194
= 451
SHEZ2tE S 2 57,484 368,949 A 311,465
= 41,155
= 8,164
iy 8,165
202 O] 920 920 0
2 920
01 =2ZWoib] 920 920 0
OYSEU2 ZAHY B3 920, 000& *1JH A 920
= 920
301 KEr2AS 2,134 1,035 1,099
= 2,134
01 AIIEEE 0= 2,134 1,035 1,099
QUHE2 AE2AZE X 426,800& x5H 2,134
= 2,134
401 AIEHIZL 204 54,430 0 54,430
= 38, 101
== 8,164
o 8,165
01 Al&H| 53,842 0 53,842
OS2 &K =7 53,842,002 174 4 53,842
= 38,101
= 8,164
= 7,577
03 A&y 588 0 588
OS2t &l&EX =7 A0
54,430,0002 1.08/100 588
g 824,360 508,420 315,940
= 469,064
== 105,365
iy 249,931
401 Al&EHIYLL204H] 773,618 453,100 320,518




SN BT

B ool BMH S (SYHYLA/YY - ME)
chel: MEIEA LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
401 Al HIZ 20| = 429,598
& 101,983
= 242,037
01 A&l 725,022 435,581 289,441
OZM=+=getxd
2,015,794 x180ha*83.4754/100 302,885
= 185, 166
= 35,982
[ 81,737
OME =& 1,067,520% x50ha*89.901/100 47,986
2 37,730
< 3,235
[ 7,021
O2URsdxE 11,583,900& *10ha 115,839
2 58,340
= 17,500
i 39,999
OZ UL (ST L)
7,152,100& *20ha 143,042
= 72,040
= 21,612
i 49,390
O2URYL Xz (RS2+3)
3,141,600& *10ha 31,416
< 6,546
[ 24,870
OsdadN+=xd
2,950, 250% *20ha*84.747/100 50,005
= 32,460
= 5,400
i 12,145
OsdEL~ES3UHEY
2,748,300 »10ha*58.847/100 16,173
= 6,670
i 9,503
otdlg=7| 196,400 *100ha*90/ 100 17,676
2 13,748
= 1,168
i 2,760




SN BT

ool YW YSH(SPHRLSA/LY - ME)
o9 MEEX (S5 &)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
EEEE 43,020 14,280 28,740
OF A &2 239,0002! *180ha 43,020
2 30, 114
= 3,870
2 9,036
03 A& 5,576 3,239 2,337
OBMAYBEY A& 20|
305,082, 00021 %0.72/ 100 2,197
OMENZE A&
48,510,0002 *1.08/100 524
O2uLTAXY AL
116,680, 00021 +0.72/100 841
OZUR YT (2SI TY )AL 2]
144,080, 00024 *0.72/100 1,038
OSLRUEY(2243) A& 20|
31,760,0002 +1.08/100 344
OS&AMATAE 2]
50,460,000 %0.9/ 100 455
OASEUZAL 20
16,350, 00021 +1.08/100 177
402 QIR+ OIF 50,742 55,320 A4,578
2 39,466
= 3,382
2 7,894
RS 50,742 55,320 A4,578
OREEXNZ 2,537, 1002 *20ha 50,742
2 39,466
= 3,382
2 7,894
ESIE:S] 1,628,932 1,055,085 573,847
2 904,963
= 217,191
2 506,778
401 AEHILR O 1,628,932 1,055,085 573,847
2 904,963
= 217,191
2 506,778
01 Al&H] 1,621,205 1,034,800 586,405
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SN BT

HEl: ool M YSHSHUNYSA/YY - &E)
el AT (£ &%)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
Ox X ZHDI
468,692 x600na*89. 935/ 100 252,911
2 141,526
= 33,966
2 77,419
OSEEINFI(ORUSIIPIHAARE SR
+OMMIDI)  1,011,3662 *1,250hax69.967/100 1,137,370
2 634, 156
= 152,197
2 351,017
OY=ZHH 427, 74421 %450na*89. 934/ 100 73,110
2 9,870
= 23,249
2 52,991
IR 918, 5142 x70ha89.918/100 57,814
2 32,411
& 7,779
2 17,624
03 A&l 7,727 7,265 462
OZX ZHIJI Loyl
254,746,000 x0.72/100 1,835
OSEEIIFI(ORUSIIPIHAARES
+0MHID1) S THHI 1,141,480,0002%0.36/100 4,110
OYZ M 2oyl 174,366,000 x0.72/100 1,256
OM24E 2oyl 58,340,0002 x0.9/100 526
WEESSIVEET= 10,131 11,443 A1,312
201 Ygreg| 8,331 9,443 A1, 112
01 AFRarelt] 6,708 7,820 AT 12
0= A2zl 6,708
~ZRIE €4, JtE2IX 7Y
207 5002 2} x6 2 2,490
—oH} U BBE ME(BAE ZehItE)
80,0002 *37H <8 1,920
—MEEN Y 7,00021 31404 x13] 2,198
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Weas(s3a8n)(B33E25/40t% - +=8) 5,503,436 8,164,306 A2,660,870
= 1,405,000
2 330,000
= 330,000
= 3,438,436
LHEHHXI = 3,438,436 5,991,306 A2,552,870
=HIHH SEL3H H&= 1,591,223 1,952,777 A 361,554
701 JIEtSIHE == 1,591,223 1,952,777 A361,554
01 JIEtsl AN ESZ 1,591,223 1,952,777 A361,554
O+=NLSHEN BES  1,591,223,0008 1,591,223
o= EH3H 53 1,847,213 4,038,529 22,191,316
701 JIEtRIHIEE= 1,847,213 4,038,529 22,191,316
01 JIEtalHEE=2 1,847,213 4,038,529 22,191,316
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SM: BHMYD
HE: YRES(HYLYD)(BYLSS/M0LE - +7)

S?H: WEHAHX =S (St &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
O+ EEIHNES 1,847,213,000& 1,847,213
L=PSPNES 2,065,000 2,173,000 108,000
= 1,405,000
= 330,000
= 330,000
St=ELH2E |23 AE 2,065,000 2,173,000 108,000
= 1,405,000
= 330,000
= 330,000
311 Xt 20[ XHatEt 660,000 660,000 0
= 330,000
& 330,000
04 ZTAXEXLLS0|AFAE 660,000 660,000 0
OfEG+ZLHAF BNB0IX &2
660,000, 000& * 1A 660,000
= 330,000
T 330,000
601 XL A2 4E 1,405,000 1,513,000 108,000
= 1,405,000
04 SUEEXNUS IS AE 1,405,000 1,513,000 A 108,000
ORFs4ZLHUE SUAS y&
1,405,000, 000 14! 1,405,000
= 1,405,000
MPES (AN ) (HEES/HIIS) 85,000 0 85,000
WEHHXI = 85,000 0 85,000
2 32 85,000 0 85,000
702 JI2EE2 85,000 0 85,000
01 JIS2E&E2 85,000 0 85,000
QHYISZTEXMeE =HIE ME2
85,000,000& 85,000
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